A

[Toctpouts rpadux
KaxX10i QYHKUMH B
OTAEeJIbHOM
KOOPJAMHATHOMU
IUIOCKOCTH

y= 2x+1

y =x-7

y =-5x

y = -Xx-2

[TocTpouTts rpaduk
Kaxa0i QyHKUUMN B
oTAeJILHOM
KOOPJMHATHOM
IUIOCKOCTH

y=2x-1

y = x+7

y = -x+2

[TocTpouTts rpadux
Kax10i QYHKUUHN B
OTAEJbHOM
KOOPANHATHON
IJTIOCKOCTH

y= 3x+1

y = -2X

y = -x-3

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OTAEeJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y=3x-1

y =x+2

y = -4x

y = -x+3

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OTAeJIbHOM
KOOPAUHATHOMN
IJIOCKOCTH

y= 2x+2

y =x-3

y =-5X

y = -Xx-2

Bapuanr 6 Bapuanr S | Bapuanr 4 | Bapuanr 3 |Bapuanr 2 |Bapuant 1

[TocTpouTts rpadux
KaK10i QyHKIUU B
OTAEeJIbHOM
KOOpJAWHATHOMU
TIOCKOCTH

y= 2x-2

y = x+3

y =-3x

y = -x+2




Bapuanr 7

[Toctpouts rpadux
KaxX10u GyHKUMM B
OTAeJIbLHOM
KOOPJAMHATHOM
IUIOCKOCTH

y= 3x+2

y = -2X

y = -x-3

Bapuanr 8

[Toctpouts rpadux
KaxX10i QYHKUMH B
OTAEeJIbHOM
KOOPJAMHATHOMU
IUIOCKOCTH

y= 3x-2

y=x+1

y = -4x

y = -x+3

[TocTpouTts rpadux
Kaxa0i QYHKUUHN B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y= 2x+3

y =-5x

y = -Xx-2

[TocTpouTts rpadux
Kaxa0i QYHKUUHN B
OTHAeJIbHOM
KOOPANHATHOMN
IJIOCKOCTH

y= 2x-3

y =x+5

y =-3X

y = -X+2

Bapuanr 11 |Bapuanr 10 | Bapuanr 9

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OTACJbHOM
KOOPAUHATHOMN
IIJIOCKOCTH

y= 3x+3

y = -2X

y =-x-3

Bapuanr 12

[TocTpouTts rpadux
KaK10i QyHKIUU B
OTAEeJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y= 3x-3

y =x+4

y = -4x

y = -x+3

<
1
1
N




[Toctpouts rpadux
KaxX10u GyHKUMM B
OTAeJIbLHOM
KOOPJAMHATHOM
IUIOCKOCTH

y= 2x+1

y =x-7

y =-5x

y = -Xx-2

Bapuanr 14 Bapuanr 13

[TocTpouTts rpaduk
Kaxa0i QyHKUUHN B
OTAeJILHOM
KOOPJIMHATHOMU
TIOCKOCTH

y=2x-1

y = x+7

y = -x+2

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OT/AEeJIbHOM
KOOPANHATHON
TIOCKOCTH

y= 3x+1

y = X-2

y = -2X

y = -x-3

Bapuanr 16 |Bapuant 15

[TocTpouTts rpadux
KaK10il QyHKIUU B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y=3x-1

y = x+2

y = -4x

y = -x+3

<
1
1
N

[TocTpouTts rpadux
Kaxxa0u GyHKUMM B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y= 2x+2

y =x-3

y =-5X

y = -Xx-2

Bapuanr 18 | Bapuanr 17

[TocTpouTts rpadux
KaKA0i (PYHKIUH B
OTeJbLHOM
KOOpJAWHATHOMU
IIJIOCKOCTH

y= 2x-2

y = x+3

y =-3x

y = -x+2




[Toctpouts rpadux
KaxX10u GyHKUMM B
OTAeJIbLHOM
KOOPJAMHATHOM
IUIOCKOCTH

y= 3x+2

y = -2X

y = -x-3

[TocTpouTts rpaduk
Kaxa0i QyHKUUHN B
OTAeJILHOM
KOOPJIMHATHOMU
TIOCKOCTH

y= 3x-2

y =x+1

y = -x+3

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OT/AEeJIbHOM
KOOPANHATHON
TIOCKOCTH

y= 2x+3

y =X-5

y =-5x

y = -Xx-2

[TocTpouTts rpadux
KaK10il QyHKIUU B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y=2x-3

y =x+5

y =-3x

y = -x+2

[TocTpouTts rpadux
Kaxxa0u GyHKUMM B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y= 3x+3

y = -2X

Bapuanr 24 |Bapuant 23 |Bapuanr 22 |Bapuant 21 | Bapuanr 20 | Bapuanr 19

[TocTpouTts rpadux
KaKA0i (PYHKIUH B
OTeJbLHOM
KOOpJAWHATHOMU
IIJIOCKOCTH

y= 3x-3

y=x+4

y = -4x

y = -x+3




[Toctpouts rpadux
KaxX10u GyHKUMM B
OTAeJIbLHOM
KOOPJAMHATHOM
IUIOCKOCTH

y= 2x+1

y =x-7

y =-5x

y = -Xx-2

[Toctpouts rpadux
KaxK10i QYHKUMH B
OTAEeJIbHOM
KOOPJIUHATHOMU
IUIOCKOCTH

y=2x-1

y =x+7

y =-3x

y = -x+2

[TocTpouTts rpadux
Kaxa0i QYHKUUHN B
OTAEJIbHOM
KOOPJIMHATHOM
IIOCKOCTH

y= 3x+1

y = -2X

y = -x-3

[TocTpouTts rpadux
Kaxa0i QYHKUUHN B
OTAEJIbHOM
KOOPANHATHOMN
IJIOCKOCTH

y=3x-1

y =x+2

y = -4x

y = -x+3

[TocTpouTts rpadux
KaK10il QyHKIIUU B
OTACJbHOM
KOOPAMHATHOMN
IIJIOCKOCTH

y= 2x+2

y =-5x

y = -Xx-2

Bapuanr 30 | Bapuant 29 | Bapuanrt 28 | Bapuanrt 27 | Bapuanr 26 |Bapuanr 25

[TocTpouTts rpadux
KaKA0i (PYHKIUH B
OT/AEeJIbHOM
KOOPJIMHATHOM
IIJIOCKOCTH

y= 2x-2

y =x+3

y =-3x

y = -X+2




